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1. Three students took 3 different kinds of tests with the following results:
| Marco scored 125 | Amy scored 97 | Monica scored 257
I T = X=85 %=233
=12 =9 0=21
: Who has the lowest relative score?
- A. Monica B. Amy C. Marco D. Marco and Amy
Iv‘
2. The standardized physics scores for eleventh 4. A principal wants to survey 150 students to
i graders at a particular high school are normally determine which electives to offer during the next
! distributed with mean X = 600 and a standard school year. There are 1,800 students in the
1 deviation o = 90. What percent of these scores school. Which procedure could the principal use
are between 570 and 620 (to 3 decimal places)? to select a sample using a systematic random
sample?
o] A. 0218 B. 0222 C. 0412 D. 0631
A. Obtain a list of all students. Start with
the eighth student, and select every twelfth
student until 150 students have been selected.
! B. Select the first 150 students who enter the
school.
C. Choose the fifth student to come into
o e the cafeteria, and then select every third
3. The number of car accidents per month on

P

a particular stretch of highway is normally
distributed. The mean is 65 with a standard
deviation of 7. What number of accidents per
month could be expected to occur less than 5% of
the time?

A. 90 accidents per month

B. 85 accidents per month

'C. 75 accidents per month

D. 55 accidents per month

student who comes into the cafeteria until
150 students have been selected.

D. Place students’ names on slips of paper and
select 150 slips.

27. Which expression is equivalent to

(44302 + (6 +D)*?
A 23i B. 42+ 12i
C. 45 D. 42+36i

6.

The following system of equations intersects at
one point. What is the y-coordinate of this point?

y=1ix-1 3x-2y=1

-5 B. -3 C } D. 1

Solve the following system of equations for x:

-7x+5y=6
Sx+2y=5

A -3 B -8 c} D. 3

23. Find all solutions to 4x* +2x—2 =1
7 “14+V3 -1-vV13
4 4

a
{—1 -rsfli'—.l—a\/ﬁ}
D. {2,-6)

n*éj;
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10. The sides of a quadrilateral are shown below Factor: 25a% — 4
; 14, - 2542 -4
Express the perimeter in terms of x. o

|
6x+ 11 2+4 A. (Sa-1)(5a-4)  B. (5a

s A

6x+ 12 2r 45

. 3x+6
ordered pairs are solutions to the system?

L (—4,-5)
L 18

1L (5,0)

V. (8,-3) . Simplify: ¢*(5¢ + %) A. 732 - 5%) B. 7x(3x-6)
C. 7x(3x-5) D. 3x(7x-12)

15.  Factor completely: 21x? — 35x

A. landIlonly  B. I, 1II, and I only A 57+ B. 5¢"+9¢°

C. LILand IVonly D. IIand IV only C. 5c2+c% D. 6¢'242c%

16. Find one of the factors of: 25k + 20k + 4

. Simplify: (2x— 3)(5x + 1)
A (Sh+1) B. (h+1)

A TP —15x-2 B. 10x*+2x-3 C. (Sh+2) D. (5h—1)
C. 1082 - 13x-3 D. 10x-15x-3

Find the quotient and remainder of 17. Find one of the factors of: 4% - 12x+9

(2 + 8x2 + 19x + 13) + (x - 3).
A (x-3) B. (2x+3)

A 2+1lx+52+5% B 2+1x+52+ 255 C s+ D -1
C. 2+5x+4+75 D P+llx+52-4




